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Physics ECAT Pre Engineering Chapter 13 Current Electricity Online Test

Questions

‘When resistance of'a current carrying wire increases due to rise in temperature,
the drift velocity of electrons:

When two spherical conducting balls at different potentials are joined by a
metallic wire, after some time:

Selenium is:

Answers Choice

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Increases<o:p>
</o:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Remains the
constant<o:p></o:p></span></p>

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Either of these<o:p>
</o:p></span></p>

E. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Romand&quot;,&quot;serif&quot;">None of these<o:p>
</o:p></span></p>

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Both the conductors
are at the same potential<o:p></o0:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Potential difference
across the conductors remain constant<o:p></o:p>
</span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Potential difference
across the conductors becomes zero<o:p></o:p>
</span></p>

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Both (A) and (B)
<o:p></0:p></span></p>

A. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">An
insulator<o:p></o:p></span></p>

B. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">A
conductor<o:p></o:p></span></p>

D. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times

New Roman&quot;,&quot;serif&quot;">Conductor in
the dark only<o:p></o:p></span></p>

E. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">None of
these<o:p></o:p></span></p>

A. <p class="MsoNormal" style="text-align:justify">



Conversion of chemical energy to electrical energy can be achieved by:

The strength of magnetic field at certain points around a wire depends upon:

The third band of the colour code:

Thermistors are prepared under

Electrolysis is the study of conduction of electricity through:

The interior of a hollow charged metal sphere is a region which:

<span style="tont-size:12.Upt; line-height: 10/ %o;tont-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Primary cell<o:p>
</o:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Secondary cell<o:p>
</o:p></span></p>

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Photovoltaic
cell<o:p></o:p></span></p>

E. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Solar cell<o:p>
</o:p></span></p>

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Value of current
passing<o:p></o:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Distance from the
current element<o:p></o0:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Romand&quot;,&quot;serif&quot;">Color of the
material<o:p></o:p></span></p>

E. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Both (B) and (C)
<o:p></0:p></span></p>

. Gives the number of zeroes

. Is decimal multiplier

. Gives the resistance tolerance
. Gives the third digit

OO w>

. High pressure and low temperature

. Low pressure and low temperature
. Low pressure and high temprature
. None of these

moow>

. Solids

A
C. Gases
D. Plasma

A. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;;mso-fareast-font-
family:&quot; Times New Roman&quot;;mso-fareast-
theme-font: minor-fareast">Contain some magnitude
of electric field<o:p></o:p></span></p>

B. <p class="MsoNormal"><span style="font-

size:12.0pt;line-height: 107 %;font-family: &quot;Times
New Roman&quot;,&quot;serif&quot;;mso-fareast-font-
family:&quot; Times New Roman&quot;;mso-fareast-
theme-font: minor-fareast">Is full of electric field
lines<o:p></o:p></span></p>

D. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;;mso-fareast-font-
family:&quot; Times New Roman&quot;;mso-fareast-
theme-font: minor-fareast">Either (A) or (B)<o:p>
</o:n></snan></n>
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In case of metallic conductors, the charge carriers are

Ifthe ends of a wire are connected to a battery an electric field E will be set up

at:

In gases, the charge carries are:

In a metal, the valence electrons are:

E. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;;mso-fareast-font-
family:&quot; Times New Roman&quot;;mso-fareast-
theme-font: minor-fareast">None of these<o:p></o0:p>
</span></p>

A. Protons

C. Antiprotons
D. Positrons
E. Both Aand B

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">The ends of the wire
only<o:p></o:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Mid points of the
wire only<o:p></0:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Every point within
the wire<o:p></o:p></span></p>

E. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Both (B) and (D)
<o:p></0:p></span></p>

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Electrons<o:p>
</o:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Romand&quot;,&quot;serif&quot;">Positive ions<o:p>
</o:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Negative ions<o:p>
</o:p></span></p>

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Both (A) and (C)
<o:p></0:p></span></p>

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Attach to individual
atoms<o:p></o:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Not attached to
individual atoms<o:p></o:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Free to move within
the metal<o:p></0:p></span></p>

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Both (A) and (C)
<o:p></0:p></span></p>

A en rlace="MeANlnrmal'sconan chila="fAnt_
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The electric flux through any surface depends upon:

Magnetic effect of current is used:

The number of field lines passing through unit area held perpendicular to the field

lines represent:

The obvious effect/s of current is/are:

. ‘IJ vIiado™ viDuviINuvi ial "O’)GII OlyIC_ LAV IS
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">Intensity of
electric field<o:p></o0:p></span></p>

B. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">Area of the
surface<o:p></o:p></span></p>

C. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">Angle between
intensity and area<o:p></o:p></span></p>

E. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot;Times
New Roman&quot;,&quot;serif&quot;">None of
these<o:p></o:p></span></p>

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">In electric
motor<o:p></o:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">To detect
current<o:p></o:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">To measure
current<o:p></o:p></span></p>

E. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107 %;font-
family:&quot; Times New
Romand&quot;,&quot;serif&quot;">None of these<o:p>
</o:p></span></p>

A. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">Flux in that
region<o:p></o:p></span></p>

C. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">Charge<o:p>
</o:p></span></p>

D. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot;Times
New Roman&quot;,&quot;serif&quot;">Area of the
region<o:p></o0:p></span></p>

E. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">None of
these<o:p></o:p></span></p>

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Heating effect<o:p>
</o:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Magnetic
effect<o:p></o:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107 %;font-
family:&quot; Times New
Romand&quot;,&quot;serif&quot;">Chemical
effect<o:p></o:p></span></p>

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Both (C) and (B)
<o:p></o:p></span></p>



18

19

20

The term drift velocity is used when the ends of a wire are:

The effects of bends in a wire on its electrical resistance are:

An important part of inkjet printer is:

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Connected to a
laser source<o:p></o:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Connected to a
voltage source<o:p></o:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Not connected to a
voltage source<o:p></0:p></span></p>

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">At different values of
potential<o:p></o:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Much larger<o:p>
</o:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Larger<o:p></o:p>
</span></p>

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Smaller<o:p></o:p>
</span></p>

E. <p class="MsoNormal" style="text-align:justify">

<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">None of these<o:p>
</o:p></span></p>

A. <span style="font-size:12.0pt;line-height:107%;
font-family:&quot; Times New
Romand&quot;,&quot;serif&quot;;mso-fareast-font-
family:Calibri; mso-fareast-theme-font:minor-latin;mso-
ansi-language:EN-US;mso-fareast-language: EN-
US;mso-bidi-language:AR-SA">Toner</span>

B. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">Drum<o:p>
</o:p></span></p>

D. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">Heated
roles<o:p></o:p></span></p>

E. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">None of
these<o:p></o:p></span></p>

A. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot;Times
New Roman&quot;,&quot;serif&quot;;mso-fareast-font-
family:&quot; Times New Roman&quot;;mso-fareast-
theme-font: minor-fareast">Near the outer surface of
a hollow charged metal sphere<o:p></o:p></span>
</p>

B. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot;Times
New Roman&quot;,&quot;serif&quot;;mso-fareast-font-
family:&quot; Times New Roman&quot;;mso-fareast-
theme-font: minor-fareast">In the interior of solid
metal uncharged sphere<o:p></o:p></span></p>
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A field free region is found:

The charge carriers in an electrolyte are

Aluminum is a:

Fhux through a closed surface of any shape and fhux through the surface ofa
sphere drawn around a charge are:

The emf is measured in:

AneV is unit of

D. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height:107%;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;;mso-fareast-font-
family:&quot; Times New Roman&quot;;mso-fareast-
theme-font: minor-fareast">Both (A) and (B)<o:p>
</o:p></span></p>

E. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot;Times
New Roman&quot;,&quot;serif&quot;;mso-fareast-font-
family:&quot; Times New Roman&quot;;mso-fareast-
theme-font: minor-fareast">Both (A) and (C)<o:p>
</o:p></span></p>

A. Positive ions
B. Negative ions
C. Either Aor B

E. Neither A nor B

A. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height:107%;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">Good
insulator<o:p></0:p></span></p>

B. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">Bad
conductor<o:p></o:p></span></p>

C. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">Both (A) and
(B)<o:p></0:p></span></p>

E. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot;Times
New
Roman&quot;,&quot;serif&quot;">Semiconductor<o:p>
</o:p></span></p>

A. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot;Times
New Roman&quot;,&quot;serif&quot;">Different<o:p>
</o:p></span></p>

C. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">Such that it is
greater in the first case<o:p></o:p></span></p>

D. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">Such that it is
greater in the second case<o:p></o:p></span></p>
E. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;;mso-fareast-font-
family:&quot; Times New Roman&quot;;mso-fareast-
theme-font: minor-fareast">None of these<o:p></o:p>
</span></p>

A. Newton

B. Volt

C.Jc

D. Both Aand B

A. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;;mso-fareast-font-
family:&quot; Times New Roman&quot;;mso-fareast-
theme-font: minor-fareast">Potential<o:p></o:p>
</span></p>

B. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height:107%;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;;mso-fareast-font-
family:&quot; Times New Roman&quot;;mso-fareast-
theme-font: minor-fareast">Energy<o:p></o:p>
</span></p>

C. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times

Naw DAamanfainint: RanntcarifRanint--men_faroact_fant_
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Which instrument is expensive and difficult to use?

When two spherical conducting balls at different potentials are joined by metallic
wire, the current starts:

A thermistor is a resistor which is:

An inkjet printer uses in its operation:

The rate at which the fiee electrons pass through any section of a metallic wire
from right to left is:

INGVV 1I\wILHIal quuUl,,uunl,DUl ||u(quu|.,,| nouTialrcasyrtivi iz,
family:&quot; Times New Roman&quot;;mso-fareast-
theme-font: minor-fareast">Work<o:p></o0:p></span>
</p>

D. <p class="MsoNormal"><span style="font-family:
&quot; Times New Roman&quot;, serif; font-size:
12pt;">Power</span></p>

A. Voltmeter
B. Potentiometer

D. Both Aand C
E. Both Aand B

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Decreasing from
zero to maximum<o:p></0:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Increasing from zero
to maximum<o:p></0:p></span></p>

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Increasing from
maximum to zero<o:p></o:p></span></p>

E. <span style="font-family: &quot;Times New
Romand&quot;, serif; font-size: 12pt; text-align:
justify;">Both (A) and (D)</span><p
class="MsoNormal" style="text-align:justify"><span
style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;"><o:p></o:p></span>
</p>

A. Light Sensitive

C. Sound Sensitive
D. All of these
E. None of these

A. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot;Times
New Roman&quot;,&quot;serif&quot;">Neutrons
only<o:p></o:p></span></p>

B. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">Mesons
only<o:p></o:p></span></p>

C. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">Positrons and
photons<o:p></o:p></span></p>

E. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">None of
these<o:p></o:p></span></p>

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Romand&quot;,&quot;serif&quot;">Greater than the
speed at which they pass from left to right<o:p></o:p>
</span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Less than the speed
at which they pass from left to right<o:p></o:p>
</span></p>
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The charge carries in the electrolyte are:

The positive charge moving in one direction is equivalent in all external affects to
a:

A current of 1 ampere is passing through a conductor. The charge passing
through it in half a minute s

Most practical application of electricity involve

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Any of above<o:p>
</o:p></span></p>

E. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height: 107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">None of them<o:p>
</o:p></span></p>

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Romand&quot;,&quot;serif&quot;">Positive ions<o:p>
</o:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Negative ions<o:p>
</o:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Either (A) or (B)
<o:p></0:p></span></p>

E. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Neither (A) nor (B)
<o:p></0:p></span></p>

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Negative charge is
moving in the same direction<o:p></0:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Negative charge
moving in the opposite direction<o:p></o:p></span>
</p>

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Positive charges
moving in the same direction<o:p></o:p></span></p>
E. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">None of these<o:p>
</o:p></span></p>

A. One coulomb
B. 0.5 coulomb

D. 2 coulombs
E. None of these

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Charges at the
rest<o:p></o:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Electrons at
rest<o:p></o:p></span></p>

D. <n class="MsoNormal" stvle="text-alian:iustifv">
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The current of 1 ampere is passing through a conductor. The charge passing
through it in half a minute is:

Field lines are closer to each other in the region where the field is:

An electric field is generated along the wire when:

The best conductor is:

family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Atoms in
motion<o:p></o:p></span></p>

E. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Molecules in
motion<o:p></0:p></span></p>

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">One coulomb<o:p>

</o:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">0.5 coulomb<o:p>
</o:p></span></p>

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107 %;font-
family:&quot; Times New
Romand&quot;,&quot;serif&quot;">2 coulombs<o:p>
</o:p></span></p>

E. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Romand&quot;,&quot;serif&quot;">None of these<o:p>
</o:p></span></p>

B. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot;Times
New Roman&quot;,&quot;serif&quot;">Weaker<o:p>
</o:p></span></p>

C. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">Much
weaker<o:p></o:p></span></p>

D. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">Absent<o:p>
</o:p></span></p>

E. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">None of
these<o:p></o:p></span></p>

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">lts resistance is very
high<o:p></0:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Romand&quot;,&quot;serif&quot;">A constant potential
is maintained across the wire<o:p></o0:p></span></p>
C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Net current through
the wire is zero<o:p></o:p></span></p>

E. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Either (A) or (D)
<o:p></0:p></span></p>

B. Copper

C. Aluminimum
D. BothBand C
E. None of them
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In case of two identical charges placed certain distance apart, the electric field

lines are:

The conventional current is the name given to current due to flow of:

The exanple/s of non-electrical energy to electrical is/are:

An important part of photocopier is:

A. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">Straight
lines<o:p></0:p></span></p>

B. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times

New Roman&quot;,&quot;serif&quot;">Sine
curves<o:p></o:p></span></p>

D. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot;Times
New Romand&quot;,&quot;serif&quot;">Both (A) and
(B)<o:p></o:p></span></p>

E. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height:107%;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">None of
these<o:p></o:p></span></p>

A. <span style="font-family: &quot;Times New
Romand&quot;, serif; font-size: 12pt; text-align:
justify;">Positrons</span>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Negative
charges<o:p></0:p></span></p>

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Both (A) and (C)
<o:p></o:p></span></p>

E. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">None of these<o:p>
</o:p></span></p>

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Chemical
energy<o:p></0:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Mechanical
energy<o:p></o0:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Heat energy<o:p>
</o:p></span></p>

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Both (A) and (B)
<o:p></0:p></span></p>

B. <span style="font-family: &quot;Times New
Roman&quot;, serif; font-size: 12pt;">Deflection
plates</span><p class="MsoNormal"><span
style="font-size:12.0pt;line-height: 107 %;font-family:
&quot; Times New Roman&quot;,&quot;serif&quot;">
<o:p></0:p></span></p>

C. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">Charging
electrode<o:p></o:p></span></p>

D. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">Print
head<o:p></0:p></span></p>

E. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
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Heating effect of current utilized in:

As the current flows through the wire

The free electrons in metals:

The flux through a closed surface depends upon:

New Roman&quot;,&quot;serif&quot;">None of
these<o:p></o:p></span></p>

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Electric motor<o:p>
</o:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Electric toaster<o:p>
</o:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Electroplating<o:p>
</o:p></span></p>

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Electric kettle<o:p>
</o:p></span></p>

B. It produces sound in the wire

C. Resistance of the wire decrease

D. Voltage across the ends is the increase
E. None of these

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Move in particular
direction<o:p></0:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Move with speed of
light<o:p></0:p></span></p>

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Move such that their
speed does not depend on their temperature<o:p>
</o:p></span></p>

E. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">None of these<o:p>
</o:p></span></p>

A. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;;mso-fareast-font-
family:&quot; Times New Roman&quot;;mso-fareast-
theme-font: minor-fareast">Shape of geometry of the
closed surface<o:p></o0:p></span></p>

B. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;;mso-fareast-font-
family:&quot; Times New Roman&quot;;mso-fareast-
theme-font: minor-fareast">Charge enclosed<o:p>
</o:p></span></p>

C. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;;mso-fareast-font-
family:&quot; Times New Roman&quot;;mso-fareast-
theme-font: minor-fareast">Nature of the

medium<o:p></o:p></span></p>

D. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot;Times
New Roman&quot;,&quot;serif&quot;;mso-fareast-font-
family:&quot; Times New Roman&quot;;mso-fareast-
theme-font: minor-fareast">Both (A) and (B)<o:p>
</o:p></span></p>
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An ideal voltmeter has:

As the current flow through the wire:

The surface destiny of charge is defined is:

The current that flows through the coil of a motor causes

The passage of current is accompanied by a magnetic field in the surrounding
space:

A. Zero resistance
B. Small resistance
C. Large resistance

E. Both Aand B

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">It produces sound in
the wire<o:p></o:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Resistance of the
wire decreases<o:p></0:p></span></p>

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Voltage across the
ends is increased<o:p></0:p></span></p>

E. None of these

A. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;;mso-fareast-font-
family:&quot; Times New Roman&quot;;mso-fareast-
theme-font: minor-fareast">Charge per volume<o:p>
</o:p></span></p>

B. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Romand&quot;,&quot;serif&guot;;mso-fareast-font-
family:&quot; Times New Roman&quot;;mso-fareast-
theme-font: minor-fareast">Mass per volume<o:p>
</o:p></span></p>

D. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;;mso-fareast-font-
family:&quot; Times New Roman&quot;;mso-fareast-
theme-font: minor-fareast">Mass per area<o:p></o:p>
</span></p>

E. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;;mso-fareast-font-
family:&quot; Times New Roman&quot;;mso-fareast-
theme-font: minor-fareast">Both (B) and (C)<o:p>
</o:p></span></p>

A. lts shaft to revolve
B. Its brushes to rotate
C. Motor to move

E. None of these

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Sometimes
accompanied<o:p></o:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Never
accompanied<o:p></o:p></span></p>

D. <span style="font-family: &quot;Times New
Romand&quot;, serif; font-size: 12pt; text-align:
justify;">Any of above</span><p class="MsoNormal"
style="text-align:justify"><span style="font-size:12.0pt;
line-height:107%;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;"><o:p></o:p></span>
</p>

E. <p class="MsoNormal" stvle="text-alian:iustifv">
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Two dissimilar metals joined at their ends kept at constant temperature
constitute:

Electric flux is:

An exanple of photoconductor is:

In a metal, the valence electrons are:

Most practical applications of electricity involve

The fourth band is a:

family:&quot; Times New
Roman&quot;,&quot;serif&quot;">None of these<o:p>
</o:p></span></p>

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Romand&quot;,&quot;serif&quot;">Cell<o:p></o0:p>
</span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Voltmeter<o:p>
</o:p></span></p>

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Potentiometer<o:p>
</o:p></span></p>

E. None of these

A. <span style="font-family: &quot;Times New
Roman&quot;, serif; font-size: 12pt;">Cross product of
two vector</span><p class="MsoNormal"><span
style="font-size:12.0pt;line-height: 107 %;font-family:
&quot; Times New Roman&quot;,&quot;serif&quot;">
<o:p></0:p></span></p>

B. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">Dot product of
two vectors<o:p></o:p></span></p>

C. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">A vector
quantity<o:p></o:p></span></p>

D. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">A scalar
quantity<o:p></o:p></span></p>

A. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">Boron<o:p>
</o:p></span></p>

B. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">Carbon<o:p>
</o:p></span></p>

C. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot;Times
New Roman&quot;,&quot;serif&quot;">lron<o:p></o:p>
</span></p>

D. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">Aluminum<o:p>
</o:p></span></p>

A. Attached to individual atoms

B. Not attached to individual atoms
C. Free to move within the metal
D. Both Aand B

Charges at rest
Electrons at rest

Atoms in motion
Molecules in motion

moow>

Silver band
Red band
Gold band

moow»

Either Aor B

>

<p class="MsoNormal"><span style="font-
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‘While finding the electric intensity at a point between two oppositely charged
parallel plates, the Gaussian surface is taken in the form ofa hollow:

The current that flows through the coil of a motor causes:

The earth’s potential and potential at infinity are taken:

size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;;mso-fareast-font-
family:&quot; Times New Roman&quot;;mso-fareast-
theme-font: minor-fareast">Circle<o:p></o:p></span>
</p>

B. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;;mso-fareast-font-
family:&quot; Times New Roman&quot;;mso-fareast-
theme-font: minor-fareast">Rectangle<o:p></o:p>
</span></p>

C. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;;mso-fareast-font-
family:&quot; Times New Roman&quot;;mso-fareast-
theme-font: minor-fareast">Sphere<o:p></0:p>
</span></p>

E. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;;mso-fareast-font-
family:&quot; Times New Roman&quot;;mso-fareast-
theme-font: minor-fareast">Cylinder<o:p></o:p>
</span></p>

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">lts shaft to
revolve<o:p></o:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">lts brushes to
rotate<o:p></o:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Motor to move<o:p>
</o:p></span></p>

E. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107 %;font-
family:&quot; Times New
Romand&quot;,&quot;serif&quot;">None of these<o:p>
</o:p></span></p>

B. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;;mso-fareast-font-
family:&quot; Times New Roman&quot;;mso-fareast-
theme-font: minor-fareast">Zero<o:p></o:p></span>
</p>

C. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Romand&quot;,&quot;serif&guot;;mso-fareast-font-
family:&quot; Times New Roman&quot;;mso-fareast-
theme-font: minor-fareast">First is greater than the
second<o:p></o:p></span></p>

D. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot;Times
New Roman&quot;,&quot;serif&quot;;mso-fareast-font-
family:&quot; Times New Roman&quot;;mso-fareast-
theme-font: minor-fareast">Second is greater than the
first<o:p></0:p></span></p>

E. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;;mso-fareast-font-
family:&quot; Times New Roman&quot;;mso-fareast-
theme-font: minor-fareast">Both (A) and (B)<o:p>
</o:p></span></p>

B. <p class="MsoNormal"><span style="font-
<iza'12 Ontline-heinht: 107 % fant-famil/: &ainint-Timas
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Static electricity is produced by the transfer of:

Gaussian surface is always:

Sl unit of current describes the flow of charge at the rate of

When two spherical conducting balls at different potentials are joined by a
metallic wire, after some time:

ety IERZOTROTRTY Uy e

g o ey
New Roman&quot;,&quot;serif&quot;">Protons<o:p>
</o:p></span></p>

C. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">0ne fluid<o:p>
</o:p></span></p>

D. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot;Times
New Roman&quot;,&quot;serif&quot;">Two fluids<o:p>
</o:p></span></p>

E. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot;Times
New Roman&quot;,&quot;serif&quot;">None of
these<o:p></o:p></span></p>

A. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;;mso-fareast-font-
family:&quot; Times New Roman&quot;;mso-fareast-
theme-font: minor-fareast">Rectangular<o:p></o:p>
</span></p>

B. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;;mso-fareast-font-
family:&quot; Times New Roman&quot;;mso-fareast-
theme-font: minor-fareast">Spherical<o:p></o:p>
</span></p>

C. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;;mso-fareast-font-
family:&quot; Times New Roman&quot;;mso-fareast-
theme-font: minor-fareast">Cylindrical<o:p></o:p>
</span></p>

D. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot;Times
New Roman&quot;,&quot;serif&quot;;mso-fareast-font-
family:&quot; Times New Roman&quot;;mso-fareast-
theme-font: minor-fareast">Box shape<o:p></o:p>
</span></p>

A. One ampere per second
B. One coulomb per second
C. One electron per second
D. 6.25 x 10<sup>18</sup>electrons per second

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Both the conductors
are at the same potential<o:p></o0:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Potential difference
across the conductors remain constant<o:p></o:p>
</span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Potential difference
across the conductors becomes zero<o:p></o:p>
</span></p>

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Both (A) and (B)
<o:p></0:p></span></p>

B. <span style="font-family: &quot;Times New
Romand&quot;, serif; font-size: 12pt;">Wet
writing</span><p class="MsoNormal"><span
style="font-size:12.0pt;line-height: 107 %;font-family:
&quot; Times New Roman&quot;,&quot;serif&quot;">
<o:p></0:p></span></p>

N en rlace="McANlnrmal'sconan chila="fAnt_
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Xerography means:

In order to have a constant current through wire, the potential difference across
its end should:

Tick the correct statement:

The quantity having the same unit as that of emf is:

The value of resistivity is the least for:

Kirchhoff's first rule is also called:

. "J vIaoOo= wviouviINvI L HIal "DFGII Dlle_ LAV 15
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">Poor
writing<o:p></o:p></span></p>

D. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">Excellent
writing<o:p></o:p></span></p>

E. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Romand&quot;,&quot;serif&quot;">Both (A) and
(B)<o:p></o:p></span></p>

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Be zero<o:p></0:p>
</span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Goes on
increasing<o:p></o:p></span></p>

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Go on
decreasing<o:p></0:p></span></p>

E. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Both (A) and (B)
<o:p></0:p></span></p>

B. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot;Times
New Roman&quot;,&quot;serif&quot;;mso-fareast-font-
family:&quot; Times New Roman&quot;;mso-fareast-
theme-font: minor-fareast">Potential is a scalar but
potential difference is a vector<o:p></o:p></span>
</p>

C. <span style="font-family: &quot;Times New
Roman&quot;, serif; font-size: 12pt;">Both are
vectors</span><p class="MsoNormal"><span
style="font-size:12.0pt;line-height: 107 %;font-family:
&quot;Times New
Romand&quot;,&quot;serif&quot;;mso-fareast-font-
family:&quot; Times New Roman&quot;;mso-fareast-
theme-font: minor-fareast"><o:p></o:p></span></p>
D. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;;mso-fareast-font-
family:&quot; Times New Roman&quot;;mso-fareast-
theme-font: minor-fareast">Potential is vector but
potential difference is scalar<o:p></o:p></span></p>
E. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot;Times
New Roman&quot;,&quot;serif&quot;;mso-fareast-font-
family:&quot; Times New Roman&quot;;mso-fareast-
theme-font: minor-fareast">None of these<o:p></o0:p>
</span></p>

A. Force
B. Energy

D. Current
E. Charge

A. Copper

B. Aluminimum
C. Silver

E. Iron

A. Loop rule
B. Thumb rule

D. Right hand rule
E. None of these
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When a constant potential difference is applied across the conductor, the drift

velocity of electrons:

In gases, the charge carriers are:

In case of metallic conductors, the charge carriers are

Electrostatics is the branch of physics which deals with the study of electro

charges:

In case of metallic conductors, the change carries are:

The conventional current is the name given to current due to flow of

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Increases<o:p>
</o:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Decreases<o:p>
</o:p></span></p>

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Either of these<o:p>
</o:p></span></p>

E. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">None of these<o:p>
</o:p></span></p>

. Electrons
. Positive ions
. Negative ions

.BothAand C

O oOw>

. Protons

. Antiprotons
. Positrons
. Both Aand B

moow>

A. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">At rest<o:p>
</o:p></span></p>

C. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height:107%;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">In motion under
the action of electric forces<o:p></0:p></span></p>
D. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">In motion<o:p>
</o:p></span></p>

E. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">At rest under
the action of nuclear forces<o:p></o:p></span></p>

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107 %;font-
family:&quot; Times New
Romand&quot;,&quot;serif&quot;">Protons<o:p></o:p>
</span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Antiprotons<o:p>
</o:p></span></p>

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Positrons<o:p>
</o:p></span></p>

E. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Both (A) and (B)
<o:p></0:p></span></p>

A. Positrons
C. Negative charges

D. Both Aand C
E. None of these
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‘When certain area A is held parallel to the field lines, then:

Which of the following substances has got positive temperature coefficient of
resistance?

The magnitude of chemical Effects depends upon:

The inkjet printer ejects a thin stream of:

Certain charge +q is placed at the center of a sphere. At each of the sphere, The
directions of electric intensity and vector area are:

B. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">Maximum lines
pass through this area<o:p></o:p></span></p>

C. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">The number of
lines are between zero and maximum<o:p></o:p>
</span></p>

D. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">Both (A) and
(B) correct<o:p></0:p></span></p>

E. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times

New Roman&quot;,&quot;serif&quot;">None of
these<o:p></o:p></span></p>

A. Carbon

B. Germanium

C. Silicon

E. None of these

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Nature of
liquid<o:p></0:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Quantity of
Electricity passed through the liquid<o:p></o:p>
</span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Romand&quot;,&quot;serif&quot;">Color of the
liquid<o:p></o:p></span></p>

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Both (A) and (C)<b>
<o:p></0:p></b></span></p>

A. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height:107%;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">Water<o:p>
</o:p></span></p>

B. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">Oil<o:p></o:p>
</span></p>

D. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">Any of
above<o:p></o:p></span></p>

E. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">None of
these<o:p></o:p></span></p>

B. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">Different<o:p>
</o:p></span></p>

C. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">Opposite to
each other<o:p></o:p></span></p>

D. <p class="MsoNormal"><span style="font-
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The value of relative permittivity of different dielectrics are:

Electric field lines emerge from the charge in:

The passage of current is accompanied by a magnetic field in the surrounding
space:

The device which can convert heat energy into electrical energy is called:

size:12.0pt;line-height: 107 %;tont-tamily: &quot; Times
New Roman&quot;,&quot;serif&quot;">At 60° with
each other<o:p></o:p></span></p>

E. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">Both (B) and
(C)<o:p></o:p></span></p>

A. <p class="MsoNormal"><span style="font-family:
&quot; Times New Roman&quot;, serif; font-size:
16px;">Equal</span></p>

B. <p class="MsoNormal"><span style="font-family:

&quot; Times New Roman&quot;, serif; font-size:
16px;">Different</span></p>

C. <p class="MsoNormal"><span style="font-family:
&quot; Times New Roman&quot;, serif; font-size:
16px;">Greater than one</span></p>

D. <p class="MsoNormal"><span style="font-family:
&quot; Times New Roman&quot;, serif; font-size:
16px;">Smaller than one</span></p>

A. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">0One
dimension<o:p></o0:p></span></p>

B. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">Two
dimensions<o:p></o0:p></span></p>

D. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">Four
dimensions<o:p></o0:p></span></p>

E. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;">None of
them<o:p></o:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Sometimes
accompanied<o:p></o:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Never
accompanied<o:p></o0:p></span></p>

D. <span style="font-family: &quot;Times New
Roman&quot;, serif; font-size: 12pt; text-align:
justify;">Any of above</span><p class="MsoNormal"
style="text-align:justify"><span style="font-size:12.0pt;
line-height: 107 %;font-family:&quot; Times New
Roman&quot;,&quot;serif&quot;"><o:p></0:p></span>
</p>

E. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">None of these<o:p>
</o:p></span></p>

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Thermistor<o:p>
</o:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Thermometer<o:p>
</o:p></span></p>

C. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Thermostat<o:p>
</o:p></span></p>
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When a constant potential difference is applied across the conductor, the drift
velocity of electrons:

Arheostat can e used:

Another mean of electric potential energy per unit charge is given by:

The rate at which the fiee electrons pass through any section of a metallic wire
from right to left is:

E. <p class="MsoNormal" style="text-align:justify">

<span style="font-size:12.0pt; line-height:107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Both (C) and (D)
<o:p></0:p></span></p>

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Increases<o:p>
</o:p></span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Decreases<o:p>
</o:p></span></p>

D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Either of these<o:p>
</o:p></span></p>

E. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">None of these<o:p>
</o:p></span></p>

A. As variable resistor
B. As potential divider
C. For varying the current

E. None of these

A. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;;mso-fareast-font-
family:&quot; Times New Roman&quot;;mso-fareast-
theme-font: minor-fareast">Electric intensity<o:p>
</o:p></span></p>

B. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height:107%;font-family: &quot; Times
New Roman&quot;,&quot;serif&guot;;mso-fareast-font-
family:&quot; Times New Roman&quot;;mso-fareast-
theme-font: minor-fareast">Potential gradient<o:p>
</o:p></span></p>

C. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot;Times
New Roman&quot;,&quot;serif&quot;;mso-fareast-font-
family:&quot; Times New Roman&quot;;mso-fareast-
theme-font: minor-fareast">Electric Flux<o:p></o:p>
</span></p>

E. <p class="MsoNormal"><span style="font-
size:12.0pt;line-height: 107 %;font-family: &quot; Times
New Roman&quot;,&quot;serif&quot;;mso-fareast-font-
family:&quot; Times New Roman&quot;;mso-fareast-
theme-font: minor-fareast">None of these<o:p></o0:p>
</span></p>

A. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Romand&quot;,&quot;serif&quot;">Greater than the
speed at which they pass from left to right<o:p></o:p>
</span></p>

B. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Less than the speed
at which they pass from left to right<o:p></o:p>
</span></p>



D. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107%;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">Any of above<o:p>
</o:p></span></p>

E. <p class="MsoNormal" style="text-align:justify">
<span style="font-size:12.0pt; line-height:107 %;font-
family:&quot; Times New
Roman&quot;,&quot;serif&quot;">None of them<o:p>
</o:p></span></p>



